EARAROBEEIERT — 2 N— IBISH —F

2012510868 (£) 4EI=#1H

NN Y S REEIRLE AT

(ER) AE

(xwlw | lmEmml - (w0 s 8

[A&£] 1 7 12,000,000 § ~ 2 & :4,800,000 3

3 & 13,000,000 B

4 7% 11,800,000 . 5 7 1,200,000 F

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N s BT . _4_o_ _ 187
1 P PRARA e 4| HERD 3.(3_4).3 5-4-2-2 | 13.5 3 (i:g) ggg; (FR)
R:a2H /24Ny B:FAAH/E3D BRSUHB2H/ 77— L4
: =ty B o7 | EFHR 3:34.5 9-8-5-4 |13.5| — 6 502 | BIAAE (ER)
2 3 d—r>HyY 60.0 (1 1/4) o) (*%)
R:T7TRREFLFL BD-LFL Ty BINET 7 — L
—: i = st 5 | JIAEE 3:35.2 7-6-5-3 | 13.6 | — 1 498 | REEE (FH)
3 2| TA4T7TZXb 60.0 ) +2) FIiPLAN
:2¥2Y3Y B:SE21tlL AATINT 7 — L
. Ny o5 | HEMEIRE 3:35.9 2-2-4-5 |13.6| — 13 | 460 |=@ESE (RR)
4111 |1z 2%27 60.0 ) () | IR
R:TRAANIZS BHLIAA—FZ B[t et
= N 7 4 4 | REREX 3:35.9 2-3-1-1 [ 13.6| — 2 540 | SEENERS (RR)
5\8[13| 7 TTLHIAY 60.0 (7£) Ga) | TELESE
RNFGHEART )=y BTAILXTT T ILBISESES
s 4 | SEHMNB 3:36.0 6-6-7-5 |13.6 | — 11 514 | /MAILTE ()
6|5/7| 21TTA 60.0 (3/4) Loy |
L:T7NhtEy b B:INHII R 1ERMY%S
. o7 | BIEEL 3:36.0 9-9-8-8 |13.6| — 9 498 | ALERE (GEid)
7Bl 5| ELTIH LU A58.0 ) gy | WAE—EE
RiZa—-A>T52F BELTIVLYT =it =3
TS T o8 | SHIER 3:36.1 4-4-8-9 | 13.6| — 10 | 498 |itAFEME (FR)
8ft12| Y- 7T =~ 61.0 (76) (a) | FHE
R:22—F4TaAv—-> B:vY/INE— X =7 )85
ft 5 | AMR— 3:36.2 11-11-10-9 | 13.6 | — 14 | 490 |fREERL ()
9|z 7VATE=T 6.0 34) o) | ) 57 xE—k
LYK YIYRIR BiA—NEARTA—TT 7 — BB HR
S T RO # 5 | EAEH 3:36.3 12-12-12-11{ 13.6 | — 12 | 488 |AFEH (E#)
10/8 14| F7I > 5~ [B] 60.0 (172 oy |BHE
L7 R4 Y RZ B:TUFs23>>10 Lallibae
B _ o7 | AMREL 3:36.5 13-13-12-12| 13.7 | — 7 468 | REBR (ER)
g o|>re—4 60.0 1) oy | EATET
R:v¥/ by THY B:h—OvY ELae]
S 44 | dLiRfat 3:36.5 8-9-11-12 | 13.7 | — 5 486 | AMREBZ (BR)
12/5| 8 Y 60.0 (7€) 46) =
RV TdATI4L K B AvOxv =4 Al JEBA
5 o7 | ATEER 3:39.2 1-1-2-5 | 13.8| — 4 516 | BEEEZ (EH)
13l 0| ¥ TRNVT T 0.0 51 Ce | B ¥5ILyks5T 577
R:LBTF—HITy BELINFI EvdlyRT7—L4
— < e HEFKER — = — - =inEE (EH)
*% 6|®T)/TNRAR "o 60.0 (shik) ’ :?g) AT
LTUBA IR B R — hFL—F PZVL
@ 21 L
£y 53.0-38.9
ngraAq L
® I—F—@EBIERL
13—74— 10=(1,13)12-4-7,2,8(3,5)-11-14=9 6
23—+ — 10=1,13(12,4)-(7,2)-3(8,5)-11,14-9 6
33—+ — 13(10,4)1(3,2)7(12,5)-11,8-(14,9) 6
Mal=5r= 13,4,2,3(10,1,7)5(12,11)-14(8,9) 6

ABICOVWTRDTEEERROODE. TR LIV,




